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Note : Before answering the questions, read carefully the instructions given on the OMR sheet.
e (e e Eratéd dwod OMR aarw HSB0S® BNGAD Arsden er(Er BEHod.

SECTION - I (MATHEMATICS)

1 regq=
@ (p=q)v(g=p) - @ (¢=r)AP=49).
3 pVvyg 4 pANg

2 {x/x€AAB}=
(1) {x/xeA-B} ), {x/xeB-4}
3) {x/xeAUB, xe¢ AN B} (4) None (8 s°¢)

3 It £{x)=xv2 % then v2 =

f(x)—*—'x\/-Z" “;“’j/é“ sond 2 =

R s IR R

4 If n(4)=5, n(B)=2 then the number of mappings from 4 to B is

n(A)=S5, n(B)=2 eond 4 08 B 8 o polre dong
), 25 2 10 (3) 32 (4) None (& s)

5 Aroot of the polynomial x%01! 4 (— 1)2012 is

x20l 1 -{—(-1)2012 ) 27008 28 Hrodw
(1) '1 2) 0 3 -1 (4) None (@5 s°¢)
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1 1
6 If o, are the roots of x% —3x—1=0 then ;+E=

- 11
o, B ¥ -3x—1=0 & srosuges’ _+5=

M 3 @ 3. 3 -3 @ -1

7 A non-convex region among the following is
&3 (808 TAS® 025756 FSH o0 O ?

Y Y

(1 _% 2) ?3) y (@) Wb s,

X

N

. P _ (2011212

x—2011 2011—x
1) 2012(2011°°"" 2y —2011(2011
! :

> BE

1 1 1 1
DV3p2E P32 O5Gas 9 Ean
10 «a-38, a—B, a+ 5, o+ 30 are four numbers forming
(1) AnA.P. with common ratio 23 (2) A GP. with common difference 23
(3)‘ An A.P. with common difference 23 (4) A GP. with common ratio 23
a—38, a—0, a+ B, a+38 o e Sopgen B Jrdyon ?

2012 2012
) )

3), —2012(2011)*'" (4) 2012(2011

(1) 28 ¥eow dHJ™ Ko vos@Ed 2) 2B Brossin o Kok
(3) 2B dcrossin Ko wosRES (4) 28 ¥Ferom I o He @3
1 —15 —47 . _
11  The series B B+ B+s N forms an A.P. The common difference is
1 —-15 —47
28 BOoSEASA HSHwew B+ B+’ Brsf’” ®owd, DroSEHN Jod ?
1) 2 Q) 22 3) —22 (4) None & s¢)
sin x s _
R =g = S5
1 3 1
M1 @ 3 A3) B3 @ 5
13 sinf=K = ! —
. 1
Sm9[1——-—2—]
1—cos“ @
(1) . ) X 3) - (4) None (& s°&%)
K+1 K—1 (K+1) (K1)
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sin 32° 4 sin” 58° =
(1) sin®58°+cos? 42°
3) cos? 58°+cos? 32°
sec? 27° — cot? 63° =

1 3 ) 0
cosec?42° — tan? 48° =
1) -1 ®

sin?33°—sec? 47° =

(1) cos? 57° — cosec243°
(3) sin?57°—sec?43°
tan? 52° +sin2 9° =

(1) sec?52°Lcos?9°—2
(3) sec?52° —cos?9°
cosec? 10°—sin? 40° =
(1) tan?10°+sec? 40°
() tan?10°—sec? 40°

. T
Sin— =
2
(1) cos®50° + cos? 40°
(3) sin?40°+ tan? 50°

T
COS— =
2

(1) cos? 40° + sin? 40°
3) cos? 40° —sinZ 50°

(x+1 +(y+2)° =25 =

(1) x=25cosf—1, y=25sinf—2
(B) x=5cosf0—1, y=5sinf—-2
(x=3)(y—4)=49 =

(1) x=3cosf+7, y=4secO+7
(3) x=3cos0—7, y=4secld—-7
(x+1)(y+3)=25 =

(1) x=sinf+5, y=cosecf+5
(3) x=sinf#—5, y=cosecf—S5

w

) cos? 58° +sin? 32°

(4) None @& s°%)

3) 1 (4) None & sc0)

3) 1 (4) None (D& sc)

cosec243° —sin®57°

None (084 s°)

@)
)

sec? 52° —cos? 9° +1
None (@& s°)

@)
“4)

cot210° + cos? 40°
None (8 s°%)

@)
)

@
)

_cos? 40° —sin? 50°
None & s°%)

cos? 40° — cos? 50°
None (& se)

@)
4)

(2) x=5cosf+1, y=5sinf+2
(4) None (& s°e)

x="7cosf+3, y="Tsecl+4
x="7cosf—3, y="Tsecld—4

)
4)

x=>5sinf—1, y=>5cosecf—3
x=25sind+1, y=>5cosectd+3
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25 (x-2P%-(y-3°=16 =
- (1) x=2secf+4, y=2tanf+4 (2) x=4secf+2, y=4tan6+3
(3) x=2secf—4, y=2tan0—4 (4) x=4secf—2, y=4tanf-3
26 1+sin0+sin?0+sin3 0+ ... +.. co=
(1) sec?§+secf tanf 2) sec?f—sech tand
3) cosec6 + cosech cot 6 “4) cosec? —cosec 0 cotd
27 1+ cosf+cos? 0 +cos> 6 +... tooo =
LT T . T ™
Sin -2— CcosS E Sin 5 COoS —2'
1 ———— (2) cemeemeee | () —— “4) -
tan s cosf cob= —eosh tan " + cosf cot = + cosf
28  Point of intersection of the lines x+ y =2012 ; x—y=11s
x+y=2012 ; x—y=1 Spo po&d HoHH
(1) (2012, 1) 2) (1,2012) (3) (2012, 2011) (4) None (& svco;
29 Slope intercept form of the line §+%=1 is
£+2b}-=1 % T g Tren PoEd Erdw
a
1 ——2 x=b 7 ——é x+b 3 =—2 x+a 4) y=—2 —a
M y=-- @ y=-7 @ r=-7 .
30 Theline y = x+1 passes through the points
y=x+1 o 3p  DoHHe Mom Hdrod ?
(1) (2011, 2012), (2012, 2013) (2) (2009, 2011), (2013, 2015)
(3) (2012, 2011), (2011, 2013) . (4) None (& s°¢%)
2x 3
31  Slope of the line ?"+7y+ 2012 =0
Lol 32y+2012 0 dp gy sren
4 4 9 9
M 3 @ -3 @ 3 @ -3
32 Area of the triangle formed by the points (-194, —167), (4, 31), (83, 110) is
(-194, —-167), (4, 31), (83, 110) v Hochipe Hg 6B (Bebexd Frrogin
(1) 411 sq. units (411 5. 000) (2) 413 sq. units (411 5. oxrde)
(3) 417 sq. units (417 5.a5rdew) (4) None (& s°¢%)
16 16 54
— e
33 =7 +b 1 then line +7 b+l 4 passes through
16 16 x oy 1 ‘ "
a+7+—b—+_7_] ©OND a+7+b+11 2 © 39 o DodH ow Y 7
1 1 ) ]
M a+7’b+11 @ \4a+7) 4p+1)
4
3) a+7 b+ll] @ 44
CEEP-2012_A] 4 AU RV IRHRNARRINI - Cont
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34  General form of the line y =2x+3 is

y=2x+3 o 3 g, FE6e ErHdw

(1) y=2x-3 2) y=3x-2 (3) 2x—y+3=0 (4 None (& s°e)
35 Intercepts made by the line y = 5x—1 on the coordinate axes are

ArFrson y=>5x—1 o dp Sam ©woss poarey

1
¢9) g,l ) —%,1 3) %,—1 @) _%é

36 Area of the triangle formed by the line Z & % =1 with the coordinate axes is

x .
AErP s Z+§=1 D By A6YES (Behesdon G, rogin

(1) 28 sq.units (28 <. oxordew) (2) 14 sq. units (14 5. axrdew)
(3) 56 sq.units (56 3. axrde) (4) None (& s°c)

37 Among the following, two parallel lines are
Bod JS* D& Body ddross Spd) Jrdkpod ?

(1) 2x+2y+13=0, x+2y+11=0 2) 3x+3y+11=0, x+y+11=0
(B) 3x—2y+1=0, 4x—3y+2=0 (4) None (5 soc9)
38 Equation of the altitude through (8, 2) of the triangle formed by the points (8, 2), (4, 6), (-1, 5) is
(8, 2), (4, 6), (-1, 5) DoHOE® BB (Babesinsso (8, 2) rhom % wowly HWEGR
(1) x—5y—42=0 (2) x+5y+42=0 (3) 5x+y—42=0 @) 5x+y+42=0
39 The points 4(3,4), B(2,—1),C(—4,3) form a triangle. If D and E are the mid-points of 43 and
AC respectively, then the slope of the line DE is
A(3,4), B(2,—1),C(—4,3) Dosores® 585 @ebesdwsss AB 8ot AC o mag HooHen
DBJT™ D 8oy E ewownd, DE B en

1 z 2 3 3 2 4) _E
M 3 ® -3 ® 3 @ 3
40 Median of the numbers .~ .~ \=. = i
edian o enumerss,2,6,4,3ls
11111
5°2°6°%’ 5 oRge DEHSHN
l (-
M ® 3 ® 3 (4) None (96 =6

41 The reciprocal of the arithmetic mean of the reciprocals of the numbers 3 and 5 is
3, 5 o JopgeH ISTHre wof e ) DS 0H0

15

1 4
(1) 4 @ 7 & 7 @ 75

42  The sum of 30 observations is 540. Then, their mean is
30 wosiwe dwddn 540 ewowd, e e

(1) 54 ) 81 3) 18 (4) None (& s°¢%)
43 Inadata, an observation with the highest frequency is called
(1) Mean (2) Median (3) Mode (4) None
28 SBrodS®, a8 7508 ArHspHgH0 Ko ©oFHOH 0SS ?
(1) o8 A3y vk (2) Soggresin (B) doEiw 4) Qb =)
|
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44  Empirical relationship between mean, median and mode is
(1) Mode + Median = 4 Median — 3 Mean (2) Mode — Median = 2 (Median — Mean)
- (3) Mode — Median = 2 (Median + Mean) (4) None
©08 [edd QoGgodw, EgrS HBA VTSIV ©RrdS oo
(1) adowsdn + QGgRSEan = 4 DogseresHn — 3 ©o¥ KedsH Hrikw
(2) wdrovssn — Scsnsin = 2 (REgHSH0 — wok AdS HKkw)
(3) axtrovsin — dgrsin = 2 (pegriain + w0 Kl Hritw)

4) @& se)
= 12 2
45 A—[z J = A° =
1 4 4 1 4 4
(1) [4 1:] (2) l:l 4] (3) l:l J (4) None (8 s°¢)

46  Which of the following products is commutative ?
83 (808 &S* Do Laren A ?

-3 4][2 11 . =77 2 01{10} (
) {11 oJ {o 9} @ [3 5}[9 J @ |1 ollo 1 (4) None (6 st)

x 1
47 IfA:[l leanddet(A)=8 then x =

1
(1) *3 2 +4 (3) +2 (4) None (28 s°c)
48  The product of the matrices 4, B and C is associative means
4, B 8o C &r@80 ogin Hrsdy arganin edds®

(1) AB=AC (2) A(BC)=(4B)C

(3) 4+(B+C)=(4+B)+C (4) None & s°e%)
49 Calculate the mean for the following data : -

&4 (808 SEroBhndgH Mty SRS

x 1
Azl: ;léaaoo&)cr&) det(A)=8 wond x =

Class Interval ~
S5 o8ty | 050 | 50—100 | 100150 | 150—200 | 200250 | 250 —300

Frequency

e 8 15 32 26 12 7
(1) 145 (2) 245 (3) 143 (4) 144

50 For the data 99, 100, 101, 102, 103, 104, 105, 106, 107, the value of the mode is
99, 100, 101, 102, 103, 104, 105, 106, 107 Serodind® eramossin devd
(1) 103.25 (2) 102.99
(3) 104.3 (4) does not exist &)

51 The formula to find arithmetic mean X using the deviation method is

0083 o 5658 (deviation method) argoe ity SHF"DLH dr@dn X =

1 (& 1 | &
1) 4+ ;f.-u,-J @ ¥ ;f;u,’ xC
1 k
@) A+ |2 fiw|xC (4) None (96 s
1
CEEP-2012_A] 6 [NV AN cConta
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52 A ABC~APQR.If AB=3.6, PQ=24, PR=54, AC="
(1) 3.6 2) 8.1 ' (3) 54 4) 6.8
53 In the adjacent figure £ 4 =60°and 4B, AC are tangents. Then OB =?

6
M 63em @ 6em O [FM @) 642 cm
12 ¢cm
0 Bogor 5o )08 AB, AC )5) Swev. £ A=60° wowsd OB = 2 0

6
(1) 643 20D (2) 6 0. 3) ﬁ?oo.ﬁb. @) 642 2o,
A

54 Inthe figure /B is obtuse, then AC? =
ZB ©8% §'morr Ko DSos® AC? =

D B C
(1) 4B?+BC? - BD? ) AB*+BC?
(3) AB?+BC%+2BC-DB 4) AB?+BC?—-2BC-DB

55 ABCD is a trapezium with 4B " DC . If AC and BD intersect at E and AAED and ABEC are
similar, then
ABCD % vow s&8yz08® AB| DC, AC &bastw BD e E ¢ podow&dy AAED, ABEC e
DEFD (BebedndS,
(1) AD= 4B (2) AD=BC () 4D=DB (4) AD=AC

56 If AB:YZ=BC:XY = AC:XZ then A ABC is similar to
AB:YZ =BC: XY = AC : XZ wond ABC ([8ehesind® 8od (Behestin 288 58 [Babesin. ©b

(1) AXxYzZ 2 AZXx 3) AZXY (4) A ACB
57 A triangle and a parallelogram each have the same base of 8 cm and area of 40 sq.cm, then their
heights are '

28 (Bebesin, SET0SE SEEED BT ZrD 830 D, AR Ferogin 40 0.D7 0N &) &

G e dod ?
(1) 8,4 2) 10,5 (3) 40, 20 4) 6,4

58  ABC is an isosceles right angled triangle, /C =90° then 4B% =
/C =90° 5o ABC BEVA AU (Bebezdnd® AB? =

(1) 4C? @) 2 4C? 3) BC? @) 34C?
59  Computer science is also called as .
(1) Informatics (2) Physics (3) Chemistry (4) General studies
éoi’.;)"ng B APIQ) AO° Ere VTP,
(D) '.95&}’8&635) (2) F88 wHHw (3) Sarand BpHIW (4) Foede g
60  Meaning of an algorithm
(1) Method of solving the problem (2) Table
(3) Figure (4) Lines
S8BT
(1) ssoig Fpod 958 (2) Hus 3) 2o 4) Aden
CEEP-2012_A] 7 [ILTRAMA ST AR MINAD - Contd...
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SECTION - II (PHYSICS)

In a screw gauge, if the zeroth division of the head scale is above the index line, then the correction is

(1) Negative (2) Positive

(3) May be positive or negative (4) No need of correction

R ies® Sotpen Ardg Jerridno Ard Sp DS ), 56w

(1) ewerd)so (2) c>gso

(B) s&go 88 2weTd)80 (4) 3560 wdado S

Heliocentric theory was first proposed by :
(1) Galileo (2) Kepler (3) Tolemey (4) Copernicus
Ardp Soess DEOSHND JEEFBT HSFBODHG

(1) ROOr (2) 6 (B) & (4) 5%90)85

A body moves from one corner of an equilateral triangle of side 10 cm to the same corner. Then
the distance moved and displacement are respectively

28 D 10 0.0, ghan Ao Ser (Babe a8 360 208 wobeodd 88A o BYHK B8 © HDH
BoXreo B2% rdo, FdEoshney HEJm

(1) 30 cm, 20 cm (30 0.8v., 20 20.8.) (2) 30 cm, 0 cm (30 20.Q, 0 %0.20.)

(3) 0 cm, 30 cm (0 0.2, 30 20.8.) (4) 30 cm, 30 cm (30 20.Q. 30 20.2.)

- Two balls are falling freely from the heights with a ratio of 9:64 towards the earth. Find the

ratio of their velocities on reaching surface of the earth.

Bock w0den 9:64 B Ko IHo Hod ) m WY HESHHBHTY O, ¥, W SDOE ) FHHI

D08 a0 Frre I

(1) 34 2) 43 3) 83 4) 3:8
Onaplanetastone projected vertically upwards with a velocity of 10 m/sec reaches the highest point
after 2 seconds. If it is thrown with a velocity of 20 m/sec, it reaches the highest point after a time of

28 [0 10 /3. 3K08° ApdenHrr MBS Tron 2 1EY °00s® KBR JHD BHsos. T 20 ./.
Bri08" JBIS® Wb KBY IHH VOLH HwsLo

(1) Tsec (1 28%) (2) 2sec (2280 (3) 4sec (4 38p) (4) 6 sec (6 s)

A car moves from 4 to B with a constant speed of 20 kmph and then from B to 4 with a constant
speed of 30 kmph, then the average speed of the car is

28 5°6) A 208 B £ 20 8.2, / ffo. 30588° How, 8BA B 08 A £ 30 8.2./rk0. 3HBE® 8A HD)S @
525 o700 DB

(1) 24 kmph (24 8.2. / %50.) (2) 25 kmph (25 8.2v. / Ko.)

(3) 10 kmph (10 8.5. / %0.) (4) Zero (8r%g0) '

The ratio of angular speeds of minutes hand and hour hand of a watch is

28 $Bordo S ddwaiue due DB Kobe S §Ean Jrdve AN

1) 1:12 2 6:1 3) 12:1 4 1:6

If a body of mass 5 kg revolves in a horizontal circle of radius 1 m with a frequency of
7 revolutions/second, the centripetal force acting on the body is

5 3% (56077 Ko w8 HH 1 e g0 o Jindo Byerss Ergos® REWS 7 e Se
BHHNS, © SpHP TP whHSol8 weo

(1) 440 N (440 &rge0) (2) 484 N (484 &rgorgd)

(3) 968 N (968 &rgtorn) (4) 9680 N (9680 &rgergo)

CEEP-2012_A] 8 (AR TRA AR ATIRIOR 0B rContd...
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69  The time period of oscillation of simple pendulum is doubled when
(1) TIts length is doubled
(2) The mass of the bob is doubled
(3) Its length is made four times
(4) The mass of the bob and the length of the pendulum are doubled

28 O S*ofo G, BloTrdEd SPoRL 880z BanHBHH)
(1) & e 880 Bavds.

(2) A (55030 Beod SovsB.

() = PaHD T B BaHIBLL.

(4) B¢ (55073 DBo SosdH FPaHD 880y BoHSB. -

70 A curvedroad of 50 m radius is banked at certain angle for a given speed. If the speed is to be doubled
keeping the same banking angle, the radius of the curvature of the road is to be changed to

50 ves Tgardo Ko a8 eSS &rdo s rd8 aren LA, ©B Tesird) wod, ) B8od

BovdBHY) & HyErs+8 Hrd T ™ SrE)SBR.

(1) 25m 25 ) (2) 100 m (100 &) (3) 150 m (150 ) (4) 200 m (200 &v.)
71  The one that is not an example for electromagnetic wave is

(1) X-rays (2) 7y -rays (3) Radio waves (4) Sound waves
83 (808 3S* JSxg8 WO, 08 SEORBVOH BEErEH oA
(1) X - 8ceadwen (2) v- 88ws0ow (3) Baxmr dsordwen (4) g SorEwen

72 Velocity of sound is measured in hydrogen and oxygen gases at a given temperature. The ratio of
two velocities ¥}, /V,, will be

adgdd SFPHS 5¢ dSuISD ¢ BdwdH, 88alS® (gD BsdsH V), [V, o 33

(1) 1:4 2) 4:1 3) 1:1 4 32:1
73 Ina stationary wave the distance between an antinode and an alternate antinode is

w8 D6 S60MANS® 28 [0S FH0, T SOHTSL & HOANS BP0 FBde Mg Erdo

3\

M A 0)% 3 % @
74  The velocity of sound in air is 360 m/sec while that in water is 1440 m/sec. If the wavelength of

sound in air is 2 cm that in water is

mOS* 6530 Srio 360 . / ), AIS* gD Srfo 1440 ./, rrOS® S6or B0 2 0.2, wawd ASS® Sors

8¢go

(1) 0.5cm 05 %0.0)2) 2cm @ 20) (B) 8cm 8 po.d) (4) 16 cm (16 0.ad.)
75 The frequency range of microwaves is

DIE® SGorre FHHTGL ©5

(1) 10°Hzto 10!! Hz (2) 108 Hz to 108 Hz

(3) 103Hzto 105 Hz (4) 1012Hzto 104 Hz
76  Velocity of light in glass is 2 x 108 m/sec. The refractive index of glass is

e 5208 S0 2 x 108 ./ . reer H8e5d doeeso

2 3 4 9
1 3 @ 3 @ 3 @ 7

3
[VRTRNIRRORA TR0 [ Contd...
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According to Hygens theory, light travels in the form of

(1) Waves (2) Corpuscler

(3) Some times waves and some times corpuscler (4) Electromagnetic waves
PR dFrodind edddod sPod ™ [HoXredod.

(1) s8ors80e (2) S

() &> SorrevrT, (4) g0y 08 SSorrenr

B8’ g SevdwenrTin
To get interference phenomenon, the distance between the two sources must be

(1) Less to the extent possible (2) More

(3) Less or more (4) Phenomenon does not depend on the distance
38866 (HE0H TPHBRY), 5708 WIS DGy Erdo :

(1) doowsod S8y S GodSTP. (2) Ay sodsBH

(3) Sgpd B8 28D (4) yPgRoM0 S0 G B0 b BETEHEE

The repulsive force between two magnetic poles is 20 dynes when they are placed 20 cm apart.
If the distance between them is decreased from 20 cmto 5 cm, the force of repulsion between

them is ;

3o @Q)f)x?‘?roé (AEAS) é)(_sg &r80 20 0.4D. a;ﬁléy& ) équg 915} &')égea 200 20 3. T é)(_ﬁg
GroPR) 20 R0, 0B 5 0.8, 0% SHoDSS ¢ Hgg Ko Mg o

(1) 80 dynes (80 @xv) (2) 320 dynes (320 @)

(3) 160 dynes (160 @85») (4) 40 dynes (40 3@

Even after the removal of the applied magnetic field, a magnetic material retains certain amount of
intensity of magnetisation. This property is called

(1) Susceptibility (2) Magnetic Induction

(3) Retentivity (4) Permeability

28 ©apIy08 o Sdvod ©0 085600 BD arirg WoNI08 FEd) BvBvT, SIS §Tod
©OHIY08 PSR DHOMNES KReTarR) O ?

(1) 323008 : (2) ®otg08 ()

(3) 8B (4) 3% Reogs

Which one of the following groups belong to ferromagnetics .

(1) Water, Brass, Gold (2) Alcohol, Oxygen, P!atmum '
(3) Iron, Cobalt, Nickel (4) Gadolinium, Aluminium, Chromium
Bod Jdrranes® PBE° ©anI 08 HarEHL

(1) %, 338, 2orrsan (2) wFS, v8y=S, Freddo

() =dw, S%ard, I8 (4) RES* oo, werrgdano, §*avo

The units of magnetic flux density 5
(1) Weber/metre (2) Weber/metre? (3) Weber—metre (4) Weber—metre

BN 08 O JOBSLH ([Ddureazin
(1) 6 / ek (2) 36 / ders? (3) B - Do (4) B - Hers?

83  Among the following wires made of the same material, which wire will have highest resistance
28 orging® Sanwdd Bod Sros® edds Ao Ko B ?
(1) I=1m, A=1mm® (I=12. A=123%) ) I=1m, A=2mm’* (I=1. 4=22)
B) 1=2m, A=1mm*(I=22 A=1229) @) 1=2m, A=2mm*(I=2. 4=2 D)
CEEP-2012_A] 10 [AAUREURRE AT R (Contd...
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Ten identical resistances, each having a resistance of 1} are joined in parallel The combination has
the resultant resistance of ‘

28798 10 dovd Ko 10 'grod Sdroddomr sOVSHE, HOS 650

(1) 100 2 10 3) 0.01 4 0.1Q
Gram/Coulomb is a unit for

(1) Potential difference (2) Specific resistance

(3) Electromagnetic force (emf) (4) Electrochemical Equivalent (e.c.e)
D / Erens edd S8 Hhreo

(1) >BJoS Beso T (2) 283 38%0

3) AAgEmyOs 200 (4) 58 Srod Sergoso

The work done in passmg a current of 4 A for 2 seconds through a conductor having a potentlal
difference of 8 V is .

28 TErE0s” 8 depo PBINS PSHo)En 4 wohaly A8 Lx)mirén 2 D8P e HHrY 207 D
(1) 4 Joules (4 &&y) (2) 16 Joules (16 &Sy

- (3) 64 Joules (64 =Sy ' (4) 1 Joule (1 &)

A step-up transformer is used on a 120-volt line to provide a potential difference of 2400 Volts at
2 Ampere current. If the primary has 100 turns, the number of turns in secondary are

28 D - 0 (ErYFGEHD 120 Sene owSE* H0HoRSHE, 2 8oPaNY IS8 Eariro HG 2400 Lo
PBINS B0 IGBIB. PErd SH0S* ey Vomg 100 WS Fe ko & S dopg

(1) 2000 (2) 200 (3) 400 (4) 1000
An instrument used to measure Isotopic masses is known as

(1) Calori meter (2) Spectrometer

(3) Mass spectro graph (4) Sphero meter’

RFEPHO (ST HOD FerBb) GIGIrAoN HBEEE

(1) 8s% oo ' (2) FH e

() (85 DD BHI 4 QQB‘ &6

The isotope of carbon used in carbon dating of finding the age of fossiles is

68 BSoR Hg Forere HoHVYL BWHTOGE BHIGIPAOD S°E)S oD

(1) C-14 2) C-12 (3) C-13 4 C-15
Among the following, choose the incorrect statement '

(1) A p-njunction diode conducts in forward bias

(2) A p-njunction diode offers less resistance under reverse bias

(3) A p-n junction diode does not conduct under reverse bias

(4) A p-njunction diode is used as an electric switch

Bod TAS°* H5° Jdeady X0)E KK

(I) &e0 205°86° p-n 205% EGIrd g PEHRroD Bohd.
(2) A0S 200°8S* 28 PN 20ES BArG By BT SevrEoH.
(3) A0S oPSS* a8 P-n 2088 EGIPE gy EHRFOD VoL
(4) p-n 2088 Bt eS8 AR TBHEK.

CEEP-2012. A} 11 [VRTRIREARAAU AR LContd...
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The atom of the element which shows half filled d-orbitals
(1) Vanadium () Zinc (3) Chromium (4) Copper
pore Hfo JodS d-wbYErg S Mres HEHrmH 6 ?
(1) 3&av0 (2) =208 (3) Evavo 4) on
92 The symbol of the element with the outer electronic configuration of 4s!, placed in S-block is
4s! OIS ITGI0E® oD SorE Hureshin G HOSSHN
(1) Na 2) Sc 3) K (4) Rb
93  The element, which shows three unpaired electrons in its atom, in ground state is
e;SJ"rg"oo.mS*3 85 8616, BHEGYEHVOS® Lurd) 2,000 JOFTIHD WrD Lresin
(I) B (2) Be @B) F (4) N
94 Mention the total number of electrons present in the p-orbitals of the atom, having atomic number 15
D8HreD Dogg 15 Ko Huresd HEErENS® Ko Bwdo p-&a&am‘gé‘ o Jog9Y dowg Jod ?
(1) 3 @ 9 G3) 2 @ 5
.\ :
95 The bonds present in NH 4 ion are
(1) One ionic bond, three covalent bonds
(2) One covalent bond, three coordinate bonds
(3) One ionic bond, three coordinate bonds
(4) Three covalent bonds, one coordinate bond
NH: WAPRS® Ko wogdwen
(1) 8 ®ofrds 2060, Kurd HHET2ACD 2OGHD
(2) 28 dHAFRIH 2060, Hard) JRXGOH JHEIFRICD WOGTE)
(3) a8 ©ardS 2060, Hurdd JRXGAH JHELTEIAD WOFF
(4) S PRI worre, a8 HHIGAH HErEIAD 0G0
96  One of the following phenomenon takes place in the formation of NaCl molecule
(1) Na atom acts as oxidising agent (2) Clatom acts as oxidising agent
(3) Cl atom acts as reducing agent (4) They undergo neither oxidation nor reduction
Fdono §88 e JEYRLS® B 365 S0
(1) dBavo edysdehr dIdowd (2) §°0S e sseIr HIBaLD
(3) §%65 gows=beir BV () w&yscm md SoEsm BEg m 2t
CEEP-2012.4} 2 (I (Conta..
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97  Ifthe positive ion configuration is 1 52 2 s? 2p® and the negative ion configuration is s2 2% 2p°

in an ionic compound, then what is the molecular formula of the compound
28 ®arA8 émgoé‘ PS8 TV Qg0 | 52 2 52 2p6 HBoX Segeeh)S BOXFS TGO | 52 2 52 2p6

©oNd, ¥ I Ve FERe” B ?

(1) KF (2) NaCl (3) NaF 4) KCI
98 The period which contains's, p, d block elements
(1) 2nd period (2) 3% period (3) 4th period (4) 15t period
s.p.d 8 Sroseend) 506(:065
(1) 25 2Bavs (2) 3% $BoxE (3) 45 8008 (4) 15 2Bo0&
99 Ionisation energy of nitrogen is higher than ionisation energy of oxygen. This is'due to
(1) Decrease in the atomic radius (2) Increase in the atomic radius
(3) Stable electron configuration (4) Completely filled orbital
B8 G, ©aNASEE $§ Jend ©8Y2S K08 JEND. 52680
(1) s6srem mgrgo Sido (2) S68rm RGO DY
(3) 8 Jogrgdn Dorgddo (4) rore dodd wdyerS todd

100 Which of the following pair of atomic numbers indicate the elements of the 'S' block ?
&1 (B0d AS® D 28 duroseo HSHrm Jopgen 'S’ erf Srostod JrdYrow ?

() 11,13 2) 10,12 3) 11,12 4) 8,9
101 Atoms with small size have
(1) High ionisation energy (2) Great tendency to loose electrons
(3) More electropositive (4) Less electron affinity values
D6 HOBPED SEYIT Bd) HEATRHO
(1) ©an86em 38 JEPI™ sotwod (2) JogmSh STAh Kardo T D
(3) &% dgerdo ror AEND (4) doz99 S denden SEYH
102 Alkaline earth metals are highly reactive. Because they are
(1) Electro negative in nature (2) Electro positive in nature
(3) Atomic radius increases (4) Non-metallic nature
6 $)88 SPen Tor HEFH SFen. HIB 5°6w0
(1) Swroso e RerHo (2) &8 dgerdo
(3) Hrosco 6K HBHTBO WD 4) o dgarH0
103 Magnesium oxide is ;
(1) Acidic (2) Basic (3) Neutral (4) Amphoteric
Bobyucho 55 & Bod garard) SOA Gotwod A, )
(1) e 2) =6 () 8o (4) &g dgyrd
CEEP-2012_A] B IR AE I (Contd...
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The element which gives dazzling light when burnt in air

mOS® H085H% DEHeroE SPoB sy drego

(1) Be 2) Ca 3) Sr (4) Mg

If 500 ml of 0.5 M HClI solution is changed to 0.1 M strength, find out the volume of water to be
added.

500 .9, 0 ©BRr0 Ko 0.5 M Hel [@dminod 0.1 mEss SrE)do0s) @0s° Jod A8 Soidsh.
(1) 2500 ml (2) 1000 ml (3) 2000 ml (4) 1500 ml

How many number of moles are present in 3.2 grams of NaOH ? (Mol. wt. = 40)

3.2 [rawe oo PTEEYE (W 3r60) abod &d) g Irde Jogg Jod ?

(1) 0.08 (2) 0.008 (3) 0.8 4) 12.5

Find out the volume of 0.05 M HCI required, in ml, in order to neutralise 0.2 M NaOH of 40 ml.
40 2.8, 0.2 M NaOH (rsemsnty 869880565, a2) .0. 0.05 M Hel ed6in?

(1) 160 “(2) 80 (3) 45 4) 120

Mention the compound among the following whose acidic property can not be explained by Arhenius
theory

©3I0HS Rrodin s Bod :)a»g;swes‘ B Bg), wdy 8RR JHBoISE ?
(1) CH;COOH (2) CO, (3) HCI (4) HNO;,

If the pH of a given solution is 9, find the concentration of [H+} ions in it.

28 e PH Jevd 9 wowd od N, ‘Hﬂ ©OXFg TGS Jos?

(1) 1073 @ 1079 (3) 1071 4) 10714
110 If the pH of a solution is zero, what will be its nature ?
(1) Acidic (2) Basic (3) Neutral (4) Amphoteric
28 (dmd PH = 0 wowd & @600  §oyd) Srddy ?
(1) e 650 (2) =6 ¢80 () &&3 g5o (4) dogdeerd G860
111 Functional group in alcohols
BIS HROH I
(0] ﬁ .
I
(1) - CHO ) -C-O0H ° (3 -C-OR (4) - OH
112 Alkenes are more reactive than alkanes. This is due to
(1) Double bond (2) Triple bond
(3) Single bond (4) Valence of carbon is satisfied
&) S, ¥ S0 0B JEYD zﬁovg%oé@ O Gotrow. B (©  sEdw
(1) &gwogrdy 50A dodoe ' (2) Bwogrdy 8O wodoe
(3) % 2057 SO G0 (@) =6)S dsdirad Jody S
CEEP-2012_A] 14 0TRSO IAIE - (Contd...
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113 Unsaturated hydrocarbon among the following

(1) Propane (2) Butane (3) Ethene “

& (30D TIS” w08y (B S°E)S

1) @S (2) arg8dS (B) &bS 4)
114 Carbon compounds which react with Tollen's reagent

(1) Alcohol (2) Aldehyde (3) Alkane 4)

£°88) 5°6808° SEgT o SEYS SEHEERN

(1) oS 2) oSaré (3) ¥ 4)
115 The type of coal which gives large amounts of heat |

(1) Lignite (2) Bituminouscoal (3) Anthracite coal 4)

©BS. GaPd) O G8Iw F°H aWod ?

(1) apys (2) DengRS % (3) wops F°H 4)
116 Polysaccharide among the following

(1) Fructose (2) Glucose (3) Sucrose 4)

& (808 TAS° FOFEBH

1) gss Q) s 3) wE's @)
117 The process of obtaining alcohol from molasses is called as

(1) Dehydration (2) Defecation (3) Carbonation 4

Aerdd od v S FoB AT, D0ErS) ?

(1) & das Q) 3588 (3) =Ey%S @)
118 The compounds which contain Zwitter ion structure

(1) Amino compounds (2) Acids (3) Amino acids 4

208 waxrs Joeo SO LEDVH

1) s RIS LeIEY (2) edre (B) XS wdrew 4
119 The following catalyst is used in the hydrogenation of oils

Srody E'EdScHiNSS HOBMHE & Bob eBNESINT. TAMD

(1) Mn (2) Fe 3) Ni 4)
120 Glass is a mixture of

Frirdg rers® o Supg HerHned 2D ?

(1) Na,COj;, CaSiO; (2) CaCOj;, Aly(SOy)3

(3) Na, SiO;, CaSiO4 (4) BaSO;, CaCO4
CEEP-2012_A] 15

Ethane

BB

Alkene

Coke

Sot S

Starch

2od K)m"gm)

Fermentation

8cag (BN

Ethers

&sben

Co
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SPACE FOR ROUGH WORK / 9 %8 Séronosadsd Hedo
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